Worksheet-1 e yerat NI - 3=

10.

11.

12.

(Number System)

yes Afunret ﬁ ’ @“ 2. AgFEdyasAfonr... O ... T
Intergers = @E& ‘ @Z& The smallest whole ::5@2 is_ZestH

The Additive inverse om 3is
(atb) (a-b)=__ A*-b*

1.1 2.5 L b
@3%37 ¢ "% ) 2

1 3
- _,M, M )5 & AfeT 3y I E9r G| Represent on real number line.
- Vo /a2
« — O M 0,
504 3 2 T 0'1'2 3 4 %5

: l Nv l (l.l ) I : .I I ..: . V
@qﬁ&%ﬂw.mwﬁ.,mdumimimiimn..p._.\.m ... A Afgret TemI ¢ # 04 fgs faararer g1

A number of the form W, where_ P and q are_jApfp numbers and g #0 is called fraction.

feq sgar emsfea Afr dur I ez faard,
grerfugsrie . Q.. IFwI vl . “ 33

Boyis éw:&:m onreal number line, his back foot

ison and front footis on
_ N = >
5 & Aftmr Sur 3 wan € |
Represent ;\w onreal number line.
NEY
< ! } il } 1 l/ } 1 Il >
S o4 03 2 1 0 1 2 4 5 7
L2

33 4 fegara & ufona Afumi=t &8 | Write Six rational numbers between 3 and 4.
3Xp-2 YX7 = 28
*7 7 T T

22 23 2y a5 2% 27
=/ 72 9/ 7 7
TET /Solve: B+V3)B-B)= (1) (A-p) = a* 5>

= (3)*-(I3)™
= QIW pond m
TZ AT /Solve(a)2x 2" = ®((2)" v = % d\.\ D.§Xv\
a7xa: a1t e xL (a7
NL 1043 @, s 3
= hwv mu‘p IS 13 _ hw.v.\.\m. 9WS-01
Y

= @p\
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13. 2 Z ETERHBE U O 18 JI \\’ritcin(lccimall‘m'm;2_ &_On['é-
11 11

14.  fegufas il w3 nufons Afimr o greses . PRI Fard
Product of Rational and lrrational numberis alw ‘\)'me
15. 3.3, 43,12/243 EraIESed / The Product of these numbers is ;

IFxUSI R 12 J2u3 ;;:X Jémxz X JZXRTEX (3
IJ3xUJ3X 12 [3x3%3%3%2 K2 X3IXIRTI X I3
3J3X UJ3x 12X3R3%[3 = 3888 [z P4
16. J&T s ian @W?Uﬁmaﬁl / Rationalise the denominators of the following:
1 1
& V16 (i) /5.2
1 E‘ﬂ
| J’ +Jé _J7tJE [
Js+3 X I8 -J2

J7 -JE ﬁ+J’s (f) ()=

= J7+J¢ _ 742

J—E"‘J—'L = JE"JS_.,__ \E"J—S_ AM
7-¢ | WmEEr SR o

Y

17. 8\/—?5'2\/_?5—"5_3137'3?|/D1V1de 815 by 2./3
glis - 8XI3xs _I8xXBxIs _ Y T puy
a3 &XJE //&X =

18. ufoHwdAfym=t 5 mg“efamfaww—wwfammaﬁl

Find three dlfferentlrratlonal numbers between the rational numbers 5 and 7 9

Usolo s "I B o oTiges o 1 o.8T
I

_—

49 38

Te T ol St
30 9 s 0760760076000
32 > 0:7ISDTSOOTSDO0- ~——
_1?%519‘ 0:R0P002000 8OOOD-~~

: o)
19. mﬁ@wﬁﬁﬁmmﬁ?émﬁmmw—wwl
Writ@hree numbers whose decimal expansions are non-terminating and non-recurring.
0J6[(00l00010000]. — —
O 202002000 200002, - —
6.003000300003, _ — —
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Worksheet-2 gguT
(Polynomials)
1. xy157 B/ ME% Rfvmiret § JaT gan feg faw 2. 48} 87 99 / Fill in the blanks:-
X,¥,1,5,7 write variable / Constant in the appropriate box () 2x+ S =7x
(i) x+4x+3x'= 8%
X,y 5,
9&/Variable MIE/Constant

3. yTSt g7 39 / Fill in the blanks:-

)10y —6Y  =dayi)-8y+ 14y =gy iii) -3y’ =7y =10y’
4. I (x+a) (x+b) = x*+(a+b) x+ab €t I3 J9F I&T fFY & yar &3~

By using identity (x+a) (x+b) = x’+(a+b) x+ab, complete the following:-

(x+3) (x+4) = A"+ B+ IXY = 52 7n £[2
5. 95 fafimit € firse q9:-/Match the following:-
i) X’+x'+3 (a) € W3t 99U (Quadratic polynomial)
i) x+1 b) f3& w3t ggue (Cubic polynomial)
i) 24X+ c) §gUe &Jt (Not a polynomial)
iv)  Vx+x+2 (d) 34t ggUT (Linear polynomial)
6. HAd I = (FAA = IIREH) + Tat MI 15= (2x6) + 3T 3
o= SO 1= L= - SO BN IR 1 G SR
If Dividend = (Divisor x quotient) + Remainder and 15 = (2 x 6) + 3, then
, Remainder=

Dividend= ‘ , Divisor =

7 AfeT=T 4, -2, 2, 0, 3 &5 p(x) = x* - 2x T fAET UT 99 |
-2, 2, 0 3 find the zeroes of the polynomial p( X) = x* - 2x

o

From numbers é
8. A9 a9 7+3x, 3x +7xETfE—oraTEFH3ErﬂT?ETICheck whether 7+3x is a factor of 3x*+7x
7+ 3% =D Plo)= 323 47% %) ZX-343 Y9
2=7 =3(~I1)y+1(-7 23 3
3’1:&” "7/3 [ ')+ ( ) 3”‘7 49 _ -3Y3-147 ~\q0
12X-7x+1 € JESSUT UIT dd| Factorise 12x°-7x+1. = '—é— =S = g _-:951
1.2 Tt Hu(3x-1) - 1(3%~1) TS5S 391 T 1

mxz—lm—zau-/

10. EI< ATHANIT €7 YWTT J9d (2x-y+z)’ €7 feA39 99 |

Expand using suitable identlty (2x y+z)’
(a+br0) = A4 47424 26 +2bC +2CA

e
(2’”5“”*2) Cﬁx)—f(—\') +/2) > 9le)(-v)t 2~ Y)(z)/—.zlz)f )
= YK ‘/‘V —I'Z —Yyry -3YzZ+4HzZx M
9Ws-02
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j_ jé FOUT p(x)=3x-1 St fRE3T 75 & &3t

— are the zeroes of the polynomial, p(x)=3x"-1
Tl 3

- 2. 3 = T w= — Pl
l‘:':l. [ Zl L EE f(") {,—) [ - h— Pﬂ/—/ </
= =3(3) 7 )" B 3 e
E cery ), 7

et S I = o2 AzX Plu)Fi=zg
"‘3" = 4= 2 FR]3

- O =S

12. ©&=I RISRHIT ©F Y&l 49 J&7 1819t € H& U3T &4 | Using identity evaluate

(i) (998)°
Closo-2) 3
(4—5)3: Qg— 3 in'}' 30‘52‘ 53 :

= (low) - 3(1ev0)72) +3(leo) (ﬂ)l—(z)3

= [000000000 -3(Jocoeco)2 +3(lezv) (y) -8

(i) 104x96
(lso+Y

= [0000COCEO — 6000000 4+ [2800 —8
= [6co0[{2000~ £00000F

994011992

13.

- -Y

*—} Ix—)
J Yy_ 3:3

_f—'33("‘) = .
,_.g-o- U

+Yy
_5 al

14.

1 (iii) (102)°

) X(160-4)

a+bh) (a-h) =@-b*
= (1eo)y= () >

= |oooo ~[ 4

= 9984

e -2+ x+1Ex- 1 FBFTASE IUYS FAI B!

Find the remainder whenx* + x* —2x* + x+1 is divided by x - 1.
3(7()3 xX—] PO = selHp 3232+

S0 [ py= (DHP-2DEIDF)
RRFO s [F1-2UNHIF]
=1 = Yed

- 2&y

(asb) Q=246 4567
= (1)t IR =
= locoot 4o+ Y

B Lall 7T
- IO"{OL ﬁ_j.

3x* _4r _3.r 18 x- 138 Faraql Divide 3x* —4x° —3x—1 by x-1.
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Worksheet-3 Bsgam g frnirfest g - 3
(Co-ordinate Geometry)
1. At 3y 3 Qusa H'fH’H"‘e’T AETfUZ d | On Real number line, Locate the numbers
-5,-3,0,4,6,9 -3 . X % 1\
| T\ ) |

1 [
— 1Tttt

0

2. s & 88 fefemmaght T nfadt @ fogenm i fad|

Write the position of the students sitting in the class.

P=(& .1 )(i)Q=(4 .3 )(ii)R=(=2_4_)
(lV) =(5.3)WV)T=(=4.0 )

Y

(50)
3. X-gaT,m3 Y-Q?IT—J;M&&B ded TS| X-axis and Y-axis intersect at iud!&L

4. urs’rm—«e"a'cr IFillin the blanks - i .
=(9,5) (i)Q=(2,3) (ii)R=(7, 2) ! |
() =(4,7)MVT=(4 ,1) 5 .
e
f T
O3 33 56 78910112 >
5. (i) X-99 3,....Y....=0 (i) Y-G3 F,.. X...=0 (i)On X-axis, =0 (ii) On Y-axis,_____ =0
(i) fegew wia farfest 9. 31 4. Sardbt Setwi g% |

(i) There are _Foul Quadrants in Co-ordinate system.
(i) ufgst Javet f&9, x = + ve, y = +V€ (i) In First Quadrant, x = + ve, y =
(iii) St SgTet fE9, x =+ve., v = - ve (iii) In Fourth Quadrant x = L y=-ve

7. (i) (-3, 2), = Faet fig mfag 3 (i) (-3,2) Lies in Quadrant
i), 1),_Y uIIAfEaJI (i) (0,1) Lies on axis
(iii) (3,0),_X_TdIAfGad | (i) (3,0) Lies on axis

(iv) 7 (a, b),y-T3 3 Afg= I It b=0 I= | (AT / a1&3) (iv) If (a,b) lies on y-axis, then b=0 (T/F)

8. foa foraat § gt e mfois WA 3 34 298 Sy <1 Afast faw 39t oigr

i

: >

T & How will you descrlbe the position,of a table lamp on your study table ta,another. person,

= Zagall 2(;_1 M —:—5)71 iy a—éxn?"f § -E;m[}‘arm 2 G

?ﬁw%

T e i

The horlzontal line is X arted and the vertical line is Y'%M in the Cartesian plane.
0. ()B=(=5,2 ) (i) £ _=(-3.5) (i) C=(§ ,-5) (iv) & = (2,-4)
(v )Absc.ssa of D.= DErgH=_6 @.=( , )

(vii) Ordinate of H = HEFd=-3 @@M=( , )

L,mfé’gﬁa”-za%%zﬂtﬁs
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1.

The name given to the point where two axis meets is
Wt uTa fE59 fg 991 Fill the points in appropriate box.

12.

BT I =t Gur frw fg Taeet 3, Ong T Pefe R T

AUy
J

(-2,4), (-3,-1), (2,0), (-3,0), (0,5), (0,-2), (3,4), (3,-5), (-2,3)

13.  fégnt & migs 3 Bz I3 | Plot the points in the Graph.

1" Quadrant

1™ Quadrant

1™ Quadrant

@Q

-2 -1

0

1 3

3 4

-1.25

-1

14.  FIEs IS &9 fient (5,0), (0,5), (2,5), (5.,2), (-3,5),

(-3,-5), (5,-3) M3 (6,1) T A" fsguae a9
Locate the points (5,0), (0,5), (2,5), (5,2), (-3,5), (-3

(5,-3) and (6,1) in the cartesian plane.

A (5,0) F(-3-5)
R(0,5) G (5,-3)
c(%5) H(61)

D (S)

E (=355

-l,ua 5
-2,3)* 1 4
T (43)

L1
1

-5),

Ee 3}5 oC
- 4

15. Jot fou Aftprr Afsut § aedins I8 € fignf e gu

fe'g w3 fuz 331 Plot the following ordered pairs
(x,y) of numbers as points in the Cartesian plane.

x |3 [ 0] - 2

y | 1]-35] -3 -3,
A (-3)) 8(0,-35), C(~hF)
b () E(%-3)

9Ws-03

i
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Worksheet-5 gafss €t mirfest & are-uge g - 3=t
(Introductlon To EL%CIId s Geometry)

&dt I | A point is that which has no fgbj,’

(x)fsvfaaﬁaaf;rwsre’r 3@1_
(i) fea auT_ W# gfoz duret § T1 A line is bAsad thlmslength.

fe‘afaes'mfa?aaﬁe—a Bzl deopn et s maE T

may be drawn from any one point to any other point .

WWM
A Ava o' g € 994 9% 96 | (Aat A18S) S
All right angles are equal to one another. (True/ False)

MWWEWWWHWWF{TW (Adt / IBI)

On plane suxtacc we can locate infinite straight lines. (True/ false) '7:1:79

5. ygewye_ 3Id] 3 37 duT J1 The whole is greater than (Bhart
 §9THgt § WorHa {9 wetEte, It gl feg goreg fuzer J1 (AT /ATBI)
If equals are subtracted from equals, the remainders are equal. (True/false)

TA,BHI CRTIU I Afaz S g aam3 Big AmS C e fegag afaz JIfRagad
AB +BC=ACGJIIf A, B and C dre three points on a line and B lies between A and C. Then
prove that AB + BC = AC.

Pasa £ AB+8C 3 AC R TeR TR} 3%

3 @ates © B9 Fgs »EEe AEASH o,
%W?ﬁm‘;ﬁm‘/—?rs Pre 23 d gamg A B 6

Fhen T3
‘. AR+RC = AC

.6 0

Y

8.  ufggmr fe€ | Define the following terms

@) 4W§W¥+(Parallel lines) 6"\)? —E, ‘R;_T;J IR ‘Fg% ’ﬁ""fﬂ U%"H%—
R PR fad & Pefk 3 5 Feehm e s Terarad
T T T I Ty FA Y Trive Farm F9GEn I3

(11)8'88H1ET(Perpend1cular lines) % E’m -FHW PE’?’ :5;}

3% P
T wd R v D T @ Feehe B —;gla e

”*f?sfz‘re;é)wm)
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(i) 99 T 23T fOHH (Radius of a circle)
T Y Yoy T vwe & R PR 57 E T S
BRI TN I P »eR T3

(iv) 3UT 43 (Line segment)

Ten w1 Pew PR P 22 »fs Pee 2m Ts
Ten <5 TEr®er J)

R L D
9. HAIAC=BD, AT a3 AB=CD B C
If AC= BD, Then prove that AB=CD A
r
fezrd - Ac=RD
—~
Fra=g#1- Ag= ¢D

TIAI). pAc= 8D
T2 P BC wels o

AC-R¢c ~ BD~R
A& — c)D

10. m@wmﬁﬁnﬂ%mwmamm

-1 g +13d S
S ¥ FOTHR JEaT 31 JyTET FHTIP It g & ITae 3 Wy wre Ty
: fﬁ U‘&%'?HF? He-fRu3T &t 71 Explain playfair axiom, 37 =F ’ilzﬁbﬁ 3H7E? I3 ZF TSI

sdnra TR- Prem. g TaR wrew e T den frg o] ¥ R FE
P ﬁfha#ar@@aazﬂ§3v@n+£zﬁﬁﬂﬁwﬁ 3 F
B maa Y A e @ mpise

12. ()fawd AT mawhﬂﬂmmmﬁmwmﬁl
‘ A Circle can be drawn with any faduts and any_Camie
(i) fET mg aur wf%q%:',a'umemfsnfrwwm

A terminated line can be produced

(111)?@—@WWM$W€WWUW! (AdT / I183)

Two distinct intersecting lines cannot be parallel to same line. (True / false)

FJ ) . 9WS-05
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R e i TTATR)

Workghest-6 Tyt w3 g T - Bt

(Lines And Angles)

we Fuiz.. .. s e et 3
Astraight line can be drawn with atleast__twp points.
U IR L Cf

Fillin the blanks 4 fo@s a= an g8 d=
AN Acute Angle S e Straight Angle
P

C
[ S 2 Trevaakts
=90° RL i 180" <£t<360°
R - £y=%0 M 1GP—sc ) er&am
A

\ 1 U T3 (D)
: 90° <£Z<180° Co— £4=360°
N %“9% ; (omplete prjle.
CAXCYE

S T Wt 1 Qe fe et el e 31 (v /A5 D)

We can measure angle in anti-clockwise direction (true/false )

A A
C C
S
>
A
‘ =50°
D B B

£x and /_yarefm’bg&m%é@gles. Lxm3 Ly, D] JT TSI

(ii) /€ - L3+ 2y =180°
A ’ Lx mZ Ly = d=T5I
B Q Y R

seseess s Tiacacaloas

Zxand Ly are angles as well as angles.
z c Lx mI Ly ﬁf.ﬁ?ésmw@é%ﬂﬁmésam

Gii) / Lot Ly=180 SupMomontsy  Linaibais
Y ALx
A

> x_— " fegefeT p=1q, Hpm3 £ T T 5 s
) -
C - v B 4x:4y,lxh{34ym ..... - J6 | VQA’(:':QQY Y
Infigure Zp and Zq are Similarly Zx and Zy are WH
: 7S ~ JPQIYTRS... AT YTt I
R . line PQ and line RS are lines.
€ —— opQ - ! X )
;4 .y JYTPQWI JUTRS. TLITINE YT IS

line PQ and line RS are lines.
(2) faT3 &= (Corresponding angles) '

i)(21,¢5) i) ({4, 27) 02’0 .
i, 26) vy (€3,48) n e 0 3

9Ws-06
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= s e
(b) fea739 #ead8 &= (Altemate interior angles) (i) (&, £ ¢ ) iy (£3, 45)
(c) feq’3T 998 &< (Alternate Exterior angles) (i) (£1,48) (i) C<L2,/7)
(d) sre<t qur €t feq gt ferr & #ee® < (Allied angles) (Co- interiorangles) _(£4,/5) , [43/ L)

"

8.  HJT PQ||ST, £ZPOR=110" W3 LRST =130" I3t ZORS y3T a3 |
If PQ||ST, ZPOR =110" and ZRST =130, find £ QRS " 0 g T

TR RUIIST A ’

LTSR+ JSRU = 19 0° (F=E 1 2 RS o 3 »Rerg 75 \ St
1304/ SRU = g0 IS PQTNTRU, aRT=d hnd l# 116°~ ZHRS+50°

ZSRU = |§o~/30™= 50° S LPAR = LARU 110°-50°= £dRyg
- . t10° = LARS +/ SRV tote 2
9. HATAB||CD, £4PQ =50"m3 LPRD =127 x M3 y EHBUITI3| o = L4RS

If AB||CD, Z4PQ =50%and ZPRD =127° findx andy. «
ABJleD 2 PO w1=d] T D)
S LAPR =/

500: »_ —

LPRD= ﬁ%mmﬁ%%ﬁgjmﬂ
o y[‘é"g’éf’?éama, o
D?’:.SO’}'Y

2 Y= IR7-50 = 77  Aw
10. HIWSPQ M3 RS TS femagt aeemiaafa ZPRT = 40° LRPT =95° w3 /TSQ =175°
3,3t £SOT U3T a3 ' . '
If PQand RS intersectat point T, ZPRT = 40; ZRPT =95° and £TSQ =75° find £SQT
APRT F=8 '

LPRT+ LRPT+.LPTR = J&0°
£0° + Qs LPTR=180°

C

P

95°

)3s°+ LPTR=]80° rY = s
LPTR > |80~)3S° ASTH P N
2PTR=-4S g 7 )
\ TSO+-LSTOF LSOT=Re® °
2870 = LPTR [ 13719 751 <] 78+ 48°+ 2807 = 1960
. o - 120°4L50T = )@o°
o LSTA = LS : °
7Q=Y4 STz )@o™120° = 600(4741
1. fggaeresd dererdz 180° Jerd, fHUSTIPlove that sum of the interior angles of triangleis —
180° ' |
B =weF) LI+ L24/3=]80° L

9851 1. DE|I8C AFF
g1 DEljgc Y »g AR wree] Ferrd
o L==2y [PReaisagsy — (D

DEJIBCY > AC FT=ET e
4 £3-/5 . ® &

LW+ L1+ /5= |8 [:'@Ww/b‘””)
L2+21+13 2)&° [ (DI HeBwd] WS 0e

Li+l2 3 =80
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Worksheet-7 e ™ - &t

(Triangles)

1. k?f?awfé?gmmg3a€a?am ATriangleshas 3 sidesand 3 _angles.

2. fE?fB??{f?H ........................ fAYg 3T 51 Thereare 3 Vertices in aTriangle.
MALALF
3 AABCand APQR: mCo 13 Tringles.
AABC w3 APQR FIEITAP fagmias |
4 (g—a—g)nawmmﬁ?w&m,g-..._.= ............... §r=._.?§. ......... ,g=.....§;‘ ... ...

L;SASc-ongruencemle,S— Sy, A= Angle = Side

5 (@-3-F)AodemrfemifeR,d- XS 7= TN &= TS
In ASA congruence rule, A= A'ng,ep S= S.(.DLL A= A"’L}EL

6. (A- -7 ) AegamH3T fami feg, H’—""""‘;}E ..... , q= XI=...., ... ZH....,
InRHScongruencerule R= P,Lg}\}- ouv\,g& ,H= H%MLKS‘ Siole

7. @ ' AABC =APQR ,3 3 3 faminigaa
S A S Rule.

(“)T ATSU = AMNQ - B B B famiigamg
By R H S Rule.

8. ADand BC are equal perpendlculars toaline Segment AB. Show that CD bisects AB.
JYHF AB’I AD 3 BCE¥I5 (939 24) 1T a3 fa CD, 3wz AB § mvearfag aewt 31
51 AB'3 AD 3 RCHH TR * BAS Famrrasn . . o

P Bk AAOD= ppoc /
. Ab=0RA (cPcT)

BT Far- Ao =08
CD,'alm#éﬁy

Y32 4A0D 7 & BoCTED
<AOD= LBOC [Priaaplyds]
LOADd= Zoge (T3=96°T

AD=BC K wIe) J)
9., LB<AAMI /C < /D,TaAgfaAD <BC TI
If ZB < ZAand ZC < £D Show that AD < BC : )
1. 282 LA 13 LCL LD '®m3’®é"§§3j
b ol OA+0D < 08+0C °
931 AORS fEv
LB LA AD LR C
/. 0AZ08 fami‘af@”%”‘]@ . SR .
R OCD’IL&’Q . C
éCAAD 9WS-07
sopeoc —IE ‘bamé‘é)n%?—] |
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10. ABfegauwragIm3 pfemerHufagdiD

T ——

"3 E YT 43 AB © feq um € fég fem sgr o

fd £BAD = LABE ™3 LEPA = £ZDPB | fRU &3 (i)ADAP = AEBP (ii) AD = BE
AB is a line segment and P is its mid point. D and E are points on the same side of AB such that
ZBAD = ZABE and LEPA ZDPB , show that (i) ADAP AEBP (ii) AD =BE

Fes1 3. ﬂePeaéma&ﬂéP AP=PR [P, PBD i if 3]
Fee J1 b3 e Funfh AB FE“E? d D
’5‘7‘,’5?2'&";133!3‘6 Fr 28AD=L ABE™r? W* £PAd=LPBE f%%juaajna
LEPA= LDPB LDPH=LEPB DT
D) - LEPA= ZDPR 2. AAS Pram w3se
é‘;‘um’ 2DPL T35 3 ADAP= AERP
/EPA+ZDPE = Z2.DPa+/LDPE
. DPA=2EPR C”) S ADAPE Aggp P B
ADAP~2 AEBPFER . AD=RE (CPCT)
1.  AABC fea miaet faga T fAn f€9 L4 =90° I AB=AC T LBWF LC u3Ta3|
AABC is a right angled triangle in which 24 =90° and AB =AC. Find 4B and £C.
=Y. £A=90° »RAR=AC) +F 56 L8= Lc=x N
’Lmaam' LG »ELC LA+LB+LC = ]80°
TG =~ A 9o +x+%x= 180°
"‘*"Fﬁ w:im P s 90+ 2= 80"
ﬁ»nwaaméma 2= |80 =70 o
=T FTHgS T 5 x= 90, c LBz Le=45 A
L ZBz=/C > %’—
‘ W=
12. AABCfe*am@gﬁfqgﬁﬁhnh%AB=Acﬁ7fPLBCfuiea“ream@t%mB=AC Jl

AABC is an isosceles triangle with AB = AC.

[ I
©

T3l Aneg PRt s d
| Firn feB AB= Acwﬁﬁm_ec.éh

AABP »3 AACPTER
355 AB= FIs A (Fd)
/BPR= PC [T3390]
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f& A AOD= ABOC "3 AD | BCJI

In given figure OA = OB and OD = OC then_

prove that A AODN ABOC and AD || BC.
573)- 0A=08 »@op=o¢ l
R gIADLAODY ABsC CIF) ADIRC (i -

_ AAOD™E ABoCES g
it oA z=oR (fnY) o
ob = oC (fnd)
£.A0D = LRoC [ Pyde T s]
SAS g »135Te

e
“d

ooLe= e (CAT)

Draw AP L BC to show that 2B = 2C.
A
ANABPZ= A ACP

8

fe'zg f9 0A=0B 3 OD =0C JI AT a3

ARoD= Aﬁoc
) AHOD:ABOC

/Cc= LD o3 {B=¢n A 2
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(Heron's Formula)
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Straight Line between two points is called line segment. (T/F)

fie Jur 9t 5 v do it 6. TSN o 7w |

Aclosed figure made up of three line segments is called....f.re‘}.‘r.‘?./.'.‘.‘jz(.(..

Sufggnfarfeefeads 90° derd B g maet faga e os| (Ha‘r/arw)

Atriangle having one angle 90° is called Right angled triangle. (T/F)

A)AHT S fIgATTi3ees - e X PR X $¥derd |

Areaof Rightangled Triangle = % X BOAQ x Perpendicular

b)MAST fIgaerufor =g+ ™MITg + ",%EJ Jerg

Perimeter of Rightangled triangle = Hypotenuse + 8as{  + Pe,\,ﬁ%dl,m

o 24 SASHETIATBC =aderd I LB w3 £C St oWt g3 b w3 c G AaTUS a9 |

If opposite side of Z A= =a, Then mark opposite sides of ZBand £C asband con figure. A

28+ 7'-73'*1"*4 e AC=b - 5
Zc A HATEEH AB=C

A
C

v

B
<+ a
fggaerdgaes - hxBCx_AD , UfaH U =a+b+c / \b

Areaof Triangle =X BC X__ , Perimeter=a+b+c /
B
\ <
_ arC
JidRIIMgAE, S=— 5, & S=7 R

atbr__ Pesamertes
2 S="7
Had fea fgga et gaT=i ETHY a,b, ¢ I 37 919 FIT vigATa:

If sides of atriangle are a, b and cthen according to Heron's Formula:

According to HERON's FORMULA, ¢

f3gwer439es (Areaof Triangle) = \Js(s- a)(s-b)(s-c) (s= a+z+c
fea f3gw er 439e® u3™ &3 fAn ©vt & gAT=T 8 AN M3 11 AN 95 W3 fam o ufanmy 32 My
?r I Find the area of a triangle, two sides of which are 8 cm and 11 cm and the Perimeter
is32em.  ofh 96 A>@ =y b= )=, C=x%

213 32 —~
M= Sadp] e, a+6+c Rzzo 2= Jclcay (sp)(s-c) | Adral= axaxa faxsxs

aAt+btc= 33 -
875'—;:( 33,{“ $= 38 =J16016-2) ()6~ (16-13) = 830 ™
%= 33-19 < ’:' ‘—\/Tgmxsxs /dﬁ—
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10. o usw fe'e fe'w fense uet 92 Tt § | fow whnit Tt fedd fog 9l I fan dor svw Jar

I ST far I orF G I “UST § U7 I 0T wve 91 fsfonr Gfer 3 | Haq fen dieg @

UATE 1S HE, 1140 61t T, 3t dardars d1 3 yarer igees ugrag | O ‘”i*c = ’,S_‘f).';'_*f’.* T’i‘g =16
There is slide in a park. One of its side walls has been painted in some colour with a
message "KEEP THE PARK GREEN AND CLEAN". If the sides of the walls are 15 m,
11m and 6m, fmd the area palntedm color.
a8 [srea) 5550 QXX XIXGXAXET
:f 160 1815) (161 C16-6) | = AXAXS JTXa
16XIX§X 10 = QoJyH® gy ;
11. wa&wmmm&wmm@wmlmmmmwm s
Y¥39e® U3Tad | Radha made a picture of an aeroplane wuth c%oured paper. Find the total &
area of the paper used. m.. |0w , \ AR Y- U(“'""r::n
IR Y= S*Sﬂ u-ss N R TP lx*mx@ . o\ SEY I
= 'S E L P TR E
'Js.s(s-s S)BS-S)(SS-D %*36):'5‘ A&ec-.;'nq !J‘ Nts’m :\ = .L:(SAJ‘: :J_ i
X3x): = ot i 2T EeIng
= ] s.5x0.5%x0-Sx b5 . N ORER 2 R I e
- s = 255 = 4.5y THR ABECH Y. 'Jx"vmx Qo) 2 = 3k
4 s o9 O - 7577-;?3 J' .L)(IXGQ)?) P
S'mﬁe)b) X B39500) T2 Y L IRIR D Y=
= 6.SX|= 65 Rell 2rozs| @wi) Bx2= g'ism ST ASHeS L IS s
E)l Ad 19.3
12,  SWSI-wIBAN I S Fufpnt @ 10 {33 mgmxmﬁmmmwm 3 m* bt
J1TIX TTF ETHTY 20 AN, 50 IS 50 I Ig I fev e darer fdarausTsary |
An umbrella is made by stitching 10 trlangular pieces of cloth of two different colours, each
piece measuresZOcm 50cm and5 owmuch cloth of each colour i requ1r dforthe
umbrella. E’H'; """’# 'RQ SCEEN] e\ 23] TJ19)
a-30 ™, b SO'PM C So¥ Sz 9_0i§9i§°~110~6o e,
L
fea qu E“"-J S(s-a)(s-b) (s-C) = X A% AXEXS f__gx 9
Jgo(;o—zo) (60-50) (£550) = &ooJd sm™> .
= ') n '
= Jéoxlox 10X10 Tl 5’“"‘1’2
~J2XRX3XSXARAXAXEKAXSKLXS I
TI3 TN T 160D g s Sv/F) D
13. e AHegegH »ag Wo € 43 f9 18 1 © 99& Bt W J1 797 fen miugegs ot 391
FAT 30 HT. 9= w3 S 37 feaas 48 Hi. ae:-ﬁqaoz a'l'@'?t!db mfenumgug?fawm
Yy g=arr? A rhombus shaped field has green grass for 18 cows to graze. If each side of
the thombus is 30 m and its longer diagonal is'48 m, how much area of rassﬂeld will ?ch et
ARBCES cow be gettlng'? TSI IIN AL DR - ARBCD2+AACD ) 2] et
i gof_,;og_; t 62307, C> tt?H? = IXAVAXARXINBN3 = 92:29791 = sor
~ 'R = 18 - sy | ~an8co = AADO 2 = y3axh?
30on
[
ARECOM: [ T TRIOY ALCD %2 Ugd 4 gy - geyyad
¢ ) (8-1)($-C) o
| = (S {5050 Trgae) (S lgm&'masaz ) W0 = 8¢y ).
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